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Example Candidate Responses — Paper 2

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge O Level First Language Urdu
3247, and to show how different levels of candidates’ performance (high, middle and low) relate to the subject’s
curriculum and assessment objectives.

For each question, the response is annotated with a clear explanation of where and why marks were awarded or
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is
possible for you to understand what candidates have done to gain their marks and what they could do to improve their
answers. There is also a list of common mistakes candidates made in their answers for each question.

This document provides illustrative examples of candidate work with examiner commentary. These help teachers to
assess the standard required to achieve marks beyond the guidance of the mark scheme. Some question types where
the answer is clear from the mark scheme, such as short answers and multiple choice, have therefore been omitted.

The questions, insert and indicative content mark scheme are included in this booklet . The levels mark schemes are
avialable in the syllabus.

Past exam resources and other teaching and learning resources are available on the School Support Hub:

www.cambridgeinternational.org/support



http://www.cambridgeinternational.org/support
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How to use this booklet

This booklet goes through the paper one question at a time, showing you the high-, middle- and low-level response for
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in
the right-hand column are the examiner comments.

Example Candidate Response — high, continued Examiner comments

o Good reference with very
good explanation.
_CJL“SL“J/J\PL@\ J}\ Q;Lmjspi

o The candidate integrates
much well-selected reference to
the text.

ot S o s S e 2l
= S b e Al itz sk

~

Examiner comments are
alongside the answers. These
explain where and why marks

Answers are by real candidates in exam

conditions. These show you the types of answers for were awarded. This helps you
each level. Discuss and analyse the answers with your to interpret the standard of
learners in the classroom to improve their skills. Cambridge exams so you can
help your learners to refine their
How the candidate could have improved their answer . exam technique. )

The candidate could have improved their answer with some more detail showing how the author was successful in his
purpose to portrait characters. The candidate mentioned two other aspects of the question in detail but not the third
aspect.

sl ) CLalS =l (S e dale S (IS 0eal (S 5l S Chiian S s L3 U Ly i gl S Juadi 3 e 628 S Qa3 )l sl
ot S sl o S S LS S8 s el 1S (55l 0 S0 S dlse o

This section explains how the candidate could

have improved each answer. This helps you to

interpret the standard of Cambridge exams and
helps your learners to refine their exam technique.

Common mistakes candidates made in this question

* No proper reading and understanding of the text.
* Not all parts of the question understood and acted upon.
* No equal weightage has been given to all parts of the question.
*  No word limit followed.
0 ol ) Al ilia IS (e

WS dee 5 om0l oo e (e S Ugmas Bl S s,

Often candidates were not Lists the common mistakes candidates made
awarded marks because they misread or in answering each question. This will help your
misinterpreted the questions. learners to avoid these mistakes and give them the

best chance of achieving the available marks.
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Mark Scheme

Possible Indicative content

REFER TO THE LEVELS MARK SCHEME FOR PART 1 TO
AWARD UP TO 20 MARKS

Question Answer Marks
1 SIS . 20
mlalloadi g e
s s .

Laal
il Sdida

gﬂuiiﬁ:.n

REFER TO THE LEVELS MARK SCHEME FOR PARTS 2
AND 3 TO AWARD UP TO 15 MARKS

15

A Tgal el
A g 3k
Gl 9 ol

REFER TO THE LEVELS MARK SCHEME FOR PARTS 2
AND 3 TO AWARD UP TO 15 MARKS

15

s B gl
PR LSRN
Sy 31

REFER TO THE LEVELS MARK SCHEME FOR PARTS 2
AND 3 TO AWARD UP TO 15 MARKS

15

REFER TO THE LEVELS MARK SCHEME FOR PARTS 2
AND 3 TO AWARD UP TO 15 MARKS

15
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Insert
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Insert, continued
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Question 1

Example Candidate Response — high Examiner comments

Part 1 Unseen-passage (U’l;sﬂegiul)h—d’p"

_“i;r/?ﬁwgﬂ.,gﬁfdwyém“&;! UL Ll

Question 1
. U’)TL-’" uﬁ;(ﬁ?u;au"gjbLdLQﬁfi&)L/}';{u’ﬁl‘j};}M 1/;}()!/
';I)/Mu"dbévwwg,/()‘”l‘@lc,m/u’! f( yJu”

4

-%WJ?“” 45U 350 = 800 ARET
-uj&gi.uc,@@ulniéviig.lvf
cf@ﬂ .

d/gzl;/ o
[20] 0 0 The introduction of this
' question directly addresses and

- %(3’_)’6{;)‘1 J J/UJ}) G (!dlﬁ L&JQW/)“( AT demonstrates very good balance
Wﬁ)}‘_,l#(ﬁxf/y(ﬂpbc_fﬁb !ﬂ»-de,J’ UJW(;\U?/ LJ,\/ by ide_ntifying the points in the
‘. " question.
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..:.gti/,iu?J-ﬁJlMJ /(y” /l;f/"(é&,l D¢ 19’“&// I’/P' )y

............. L kaf 7 uJ(.DO)wLw!:)" O3 ed Wl Lz 2 PE




Example Candidate Responses — Paper 2

Example Candidate Response — high, continued Examiner comments

Lk s late LLisl gl b’/ﬁ!ub/wcr’ b s

2 ol ltokor f ok & o*d(?/ LR e -z
?)”;’,Hﬁgfw;)’/&l(fo”lajwlpoﬂj b’)d{:/y@b(;g,

1 el VZ—IL«: .Cmu o)})J..L@...rg " u,&»ﬂ’d»’f %Jw .
dfuw ....'.z..z...gz ........... (Y x5 o E At L

AREBL ok et =2 P P (R

s a;/ ¥

f‘g@w‘z& Loy ks 'efr\{ﬁ' 2l BCre
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AT QA 2 D)

e Reference is made to evidence

the understanding of the question.
L€ im0 S sl Sl (S s
=

e The answer shows a clear
critical understanding of the text and
its deeper implications.
S Dama o 58 Sl ) Gle il
= S s S andl (S il

0 Good reference with very good
explanation.
_dgit::,\!\};t@_?\ ‘)_5\ C_\;L'A}‘sﬁi

e The candidate integrates much
well-selected reference to the text.
wepl S o s S e 2l
= WS e Alla e _wz )k

Total mark awarded =
18 out of 20

How the candidate could have improved their answer

The candidate could have improved their answer with some more detail showing how the author was successful in his
purpose to portrait characters. The candidate mentioned two other aspects of the question in detail but not the third

aspect.

sl L)y S = 5l (S ae duaie SIS sl (S )l S Cian nS s L Ui Uy i gile S daadi 330 28 S Gl il ) sl
o S sl o S S o LS S8 s el 1S (55l 50 S0 S dlse o
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Example Candidate Response — middle Examiner comments

Part 1 Unseen passage (Lf l;s’ bg)(j‘ )Ji,«ﬂ’
_.wa,;,zg.g,.f Ui Aotz 1 B E L

Question 1

/ru'ﬁll/rlauﬁilﬁaﬁ_c_u"cﬂLdbuﬂfi&/;}f{dbﬂd’::/ﬁ/ 1/"Ulr‘

dA{uu/ Mu"d{p LTtz /. 5 b Y Tt /U1 MM
N e F & ,w‘j'/ e

i S 451350 = 300 ARET
& Losie clud Lotz it

eberiniie e

dyg'/b/'/O
[20]
........ o g meug Qﬂ‘f?...—.é,.z;.»..@fdfg\w
s.ﬂe(.}l wawl LD BHALAD.. /a\—.@w 23N

mWﬁP =2 ol G 2o T 0. preas
peds. ¥ 2k o Ok ,—w”fﬁf’/\s»....\..a
; ‘aj 2l..ee =) “’“cd/b
@a lfg)*g Voo Lo wha) Lk 3. Risna.
Wﬁ@ O_kuw,.wcoe f}*-D 3. r\\_nbu.:)
VT WA VI | FIC 30 e@g/ﬁ?\
S wgugb& Fab . 2. L.
..................................... S T g d"‘”J’)(J bah.s.z 8.

a The response is very
straightforward, and some good
words have been used to complete
the start such as ‘Khoobsortee
dobala hona', ‘llfaaz kaa chunaoo’,
etc.

Ba e ol sl oGl ele bn G
O o o oo LS e 5 1S Bl oaee
s S de Gt Sl _Sala

sl KLU )l L Yl () sa a oS
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Example Candidate Response — middle, continued
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" aar gk bo) n2m (el BT e G enen T 02,
Lt B keptlanan Kt Nrr ) B a2 ) O L B 2
............. . "f—*‘J LJ.-\ (ob‘\f@ (1901 \JVJ .
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........ Sl -t LU SRR g of MW\C_,;\J &J.n.xxl

Examiner comments

e The candidate uses the text
with very little information to answer
three parts of the question. There is
no mention of character’s superior
thinking in this answer.
Gl 8 Gsan 0 S g S )l sl
1S e s S Clashne S gy S i
el (S 1S e Gl Gl - o LS Jlaaiaal
o S Gl (A S e g b Sz

0 The candidate shows some
thoroughness in the use of
supporting evidence from the text.
Jleninl S gl (g glae s Gla ) 52l
- S (B SIS S (e

Total mark awarded =
13 out of 20

How the candidate could have improved their answer

The candidate could have improved their answer by addressing all three parts of the question. The candidate has
mostly used the text to answer. At the start of the answer, the candidate should have used their own words. There was

no reference with any explanation to score better marks.

R 1S i 1S e S 53 o o3 5 ) a3 USRS i oS o bl oSS i S e 0588 S Ul s

Jloxins) 1S B il ssel

1S lsa oS il S Cialiny (u an s oS 058 &3 doala jsed s Mgy Cilide aansii silgd LS £ 550 ol sa Wyl 5 Gl = (e S = sl
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Example Candidate Response — low
Part 1 Unseen passage W ?{’” %)U’)J’p"
_»&(4/;,mgjzﬁ_g/:’dly/ém“&@(uﬁru:é;t?f[,y@/

Question 1

FEM e Mn—g b A LIl S e T B 101 P
S ar s LTt S P F Y T oS 1 f dhenir St
~eln e Iy

-.:'Tlgmg}’f/ 451 350 = 300 ARET
-wé P 4*,._.@!6"@1%_ Lh‘.;l'ﬁz;.lyf
u‘j/ i (¢ e

debers s .

SEpS e
[20]
BIRVPE RV P TS TS ) g c../Tﬁ/‘a".ﬁ eﬁf(}"/n G apier gpl. e
.......... ﬁ(f’w%cbuy.ﬂwa-‘ »2. Q-,»ls,sf Plclael o %.::“/ e g,effa—
»fdlleg/fo.r/‘iu/,fnfmwoﬁwla_éﬂéfcﬂfol,05'4_» s 0

...... Fend e g frve. il A, ...(.A.d PSS c..;,el-—é’d;éjfm& el

Kf’}/jﬁ K oo G it S s gl T
..... ,»'aj"f?(j’”%)”égaﬂwdal&TO;-.eféxo_ffﬁﬂl/
.................. west. it & B e i ot .

Examiner comments

0 The candidate attempts to
communicate a basic personal
response to the task. The response
shows a very basic understanding
of surface meaning of the text.

S e Gl S8 ki S e o
e aba S e Glsa o (K S 5SS

= S s S and oaliiy Cay SOl (S
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Example Candidate Response — low, continued Examiner comments

mlw«réz@w»:prd)fwmcxwfwyguw

o Cyati 5 fu.ofil NN
T 0 o The candidate does not

= understand the question clearly.

e IY i LT e ot oy ton 1 it .. e, . o, @'be Also, the instructions are not

followed to complete all parts of the

oV K A 4@;!’,‘1!_:/(():‘ Cf’Cﬁ"Jél ]MU@'(}J %J—aa.aelcg éj.('(eé/ question. P P

CPrR i . vt Koo 25 (4 0008 olnln o gt e .. P ol s i (S g sl (S ) sl

....... PP e ol bop g ol & . JeSa 58 geas plai S Jlsm s = o
Gt J/(‘KC)'C)E)’ bogt ol ot en gl 53, .43‘6)" LSS e e s i S

gty Lo st B B8 (o, BT, 2T ot h el G Y
......... Gl lof. WY S s> | Total mark awarded =
) 4 out of 20

How the candidate could have improved their answer

A lot more could have been written to improve the candidate’s answer but unfortunately, the candidate provided very
basic information for this question. Not all three parts of the question have been addressed. The word limit was also
an issue. The candidate could have improved their answer if there had been clarity of deeper meaning of the text and

question.

05 S ) sm o 6 Slasbae ol G (S Jlgw ) 2 )lsane) s Gl (S B la e xS o A S s i SOl S )l sl

S S i oS lsn il Jlsael 58 Gis Caalimy (S ime o 8 Sl sl e 81 e Al S g an (S il o (R (50 i an s e
1

Common mistakes candidates made in this question

* No proper reading and understanding of the text.

* Not all parts of the question understood and acted upon.

* No equal weightage has been given to all parts of the question.
*  No word limit followed.

WS dee Ol @2 n ol sl Lm0 S Qg alad S ) g,
= WL G s Sy S U smas alai S g
LS e JS 8 s (S B
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Question 2

Example Candidate Response — high Examiner comments

Part 2:Poetry (lj/l}")'fﬁ‘?
E I L e ) e

Question.2

2 /"Jl’%
1151 _grasy P L P e e dts el fi JEghald

L

»

Question 3

3 A I

85 e tpo s g2 FSIS R DA O N LS o 35715
[18] —é“‘,‘

o M
s Lu.aff&);sf)\- Ld.....é..,:m G’C' We 2l C)-w l ARz o 0 Very good start with nice use

y _ W u & J.‘JLa‘C . _ 7, | of words, for example, similes and
...... g U WQ{»&G metaphor to emphasise the poet’s

W@wﬁ..g.;;u =. uu,.‘d» oA B 5 5 ) 5 B ) 2

............. MJlsew ‘t&l) Ay JLuf()uLmo &S b)?’ ,e.m!o.m R e
C,M' M"%u JLMM é(f Ayl Ad 5.

uJZU..m....c:.'f..u.LMa (Cnal. O“"”’P Q—C’ &0 =T

......... wLﬁwAeLM{—MJ& 089. rz/ufeu): A2 MK»\»

%bﬁujvuﬂﬁcwﬁg =TS 9. d 2.0.2. La

£ el
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Example Candidate Response - high, continued Examiner comments

o Very good reference from the
- L\r o b(wf*r&y/ yumdp ............................... work of the poet in the syllabus.

Asa lgal s 38 S el Jalis (e s

I, Sfa/ﬁ:ﬁ x] LS....J.{...ﬂ..’....(!::’.“...’.J.ﬁ..f....Q’_ bg; ku k

r&MleQSJLN{_}.” [N k-2 !wayouﬁ_b .

oz Gal:. ¢lmug TL‘"()“"’ b S
— \JNLQJ g?( L_Q'J)&. ................................

o K S a2l ssil9. vaslfJow Cusloe S i T.....
..... S22 87 1)9\b,z (S YT AR UJA\(g s..ro...uc:'..
..... (8. S gt D) L_au’/(brbg/& 13, 20T, YO /.,c-, )

\)LM\N’QQJLE\-K (S“Mdaﬁ@ﬁﬁf(éuﬂ-juw i

o This is a well-developed and
detailed response and shows a
clear understanding of the text and
its deeper implications.
m o = Al Geall ) sdee Gy Sl
el (ae i Sl gaml S LS Ll
(cﬂ‘uw"" C&ud_’gﬁ 9.~ c.‘.'." TN 5’”3“ el ple L o oy 5 30
JJ’UV‘J VNS (_gwy\/p\z Sabm. nl—s ﬁ\s,‘ W‘M& )

A, g,fé_bw b NI)MC‘-’—%JSA‘M %%“‘(:n:a- GL.
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Example Candidate Response - high, continued Examiner comments

Pt [P
Ui e oy # s Ik sp s d L2 SIS el divs’ N
_u:”i 4 S LUdr TS st

(D dher
....... frqfl y:sz(rw Sy & a2 Tl
(efé:;‘:’.l)ﬂ ;,jrwb oL (J?’s\fc,.aw z2-ls zfz_(ﬁ-’&w
c:'J Canlo S & rv\derJ RPN =V T
“%—rwubolﬁw-'-cﬂ E:’_:L—C% ........
302 twods,

o ol p e gy B0 R .z)ds,..u

"JNNd-f (J"?’ ?byé/ﬂ

o QLQ)m oY\ d MC‘-’-’M dé'_,w ............................
r X
UQS)M LAVE 5\.4»3\.,..; CLS_)M!C)-"’C:‘}&\.M&O‘# .................
d.:sz(_g’: Lwd’ QM Sl S0 e Sk w‘go o Very good reference from the
Ubsu\dn U“L“-"‘ Ym0l . @fu&_\;w ........................ work of the poet and explanation to
X= -y show understanding of the question.
I, UMLM L&l e L:,;..,..%'T.... ) uk««d:{,m\ S s el it oo e 8 S i
s I'JL_L.@V....K;HI Kc._.qul_)_al,\ﬁ:G——J N RPYoCay - Sl hS g iE il sl o€
o Wenan Sr5) S dsm

?&;bl ,n—-:l .Lc'.‘(g-a:) a’( 3’/“
—cirwﬂblbmlc;‘ﬁc)w . ol Ko T,

(S e LS T A B o e (5 57,55

U\.Swaf;s;a.e ...... s~<,<37 PRV At t PPV IS
/,N,MLM@J e’OMR)JCaw JJ—?’ L8ttt e
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Example Candidate Response - high, continued Examiner comments

2 L}L’ox :
NS TN SIS W iy J AT Pl w9
..u.'."v 44;" fj,l; /.'" ﬁu)l%uff 4.‘5/;},‘?wa :

(&5
( Jf\f/cﬂ SYLROVIE NI W) DOp= T T P POy

%ﬁ@wcy‘é‘frﬂfusy’ﬁ )2l uw
"C‘L" JL’9D C;w’rLs

........ o Ue@lﬁ’ﬂ'.ﬁ-ﬂw :_,.9
AR © | © very good conclusion with
...... " | detail to show how the poet has
___________ é,g_-,-upw_!..a(g:..’:s Al CSHul s Lo d’( gained fame and has shown the
real feelings in his work.
) M'U&W/JW}" ...... CPai, W .. I_n_,w’%z) (‘-“‘*‘" iy 5 ot 1S g ) 5 ) el
..... C—@ ~C> Q; ,{ c_sJLﬁ'C};_;(‘JM S Lo o _svv A NS o LS AU e Sl
g \A’u\u;f«w—-‘,)ﬁ{)ﬂb)ss’ JS’U" PRE A Y c,,rz.a sl S deala cud ok oS el
7 ol A8 S S cililual S jeliode S
i )&« d-?/J = & o Ea 51(.’3,:3” ................................. ‘
’L\ﬁv (..a-«.l gL—.l 9’ (__A?
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Example Candidate Response — high, continued Examiner comments
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'(.? S92 14 out of 15

How the candidate could have improved their answer

The candidate gave a well-developed and detailed response and showed a clear understanding of the text and its
deeper implications. The candidate could have scored another mark to get full marks in this response if some of the
words had been more legible. The candidate could have improved with readable handwriting.

O Jhstal 55 S ad QB LU ga€ R (Sl gl s (S S pame o & Sl sl Gl o) sl 8 s el ) stee ip S
LU S i S o 3 a5 S S aalline Bl poael 13 U S Sl 3) psai 2l Sl 0 S S Jealauad JSn (e
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Example Candidate Responses — Paper 2

Example Candidate Response — middle Examiner comments

Part 2 P‘oetry'(d Y4 V‘)g—«p‘?
-2k D ()2

Que_stion 2

2 A Iy

[15] _“ééf44f)l}!£ym‘1y,ﬂf¢LliLayf()'lﬁufgw
L

-

Question 3

:3/J1y

& s S0 (2 S8 I8 2 Lhiit e b LIS " " L S 357 13

o A good start and comparison
between Questions 1 and 2 to
demonstrate the level of difficulty
in writing style. Good discussion
about poet’s writing style in the
candidate’s own words.
s Ll e Sl ) SO S5 ) sl
b ) G I )l L o LS gas
Gl o WS A5 18 p a3 ol
Ol S el sz b o) 2 sl e
=S S o

d};@/(w s J
----cj}*‘é“’cﬁf/f

Srme g 5] . é/&//ozmm,y/@
Www lcji—f_z,u_o ,,-9/.9 L.

e A creative answer that shows
GG (LR BELL 25" understanding of the text and some
7 o &/ / . é/ 12 of its deeper implications.
f;/cfwfo& 7 J/ /O%”O“Mj/w 25 0 ) i S e s s S S
Cef 6‘—‘(9?/‘?5# ik T4 Ba) ) iR ) AF e LS il S il jacme o S eaS
.......... Méﬁn ?szgjf‘cjbf/;{ Jﬁ.cffoﬂkb_/jx//é

................................................................. e Blog caliZ Cplu J142) 180 Total mark awarded =
out o

How the candidate could have improved their answer
The candidate could have improved if references from the work of the poet had been discussed and quoted in the

response. Reference and quotation from the text would have increased the standard of the response to score higher
marks.

W Alls e el &) L US Ly i la ) ol sl Lo dllsa ) Ula LS Jls Ay cila Al S8 S jeli e lsn R
L5 U 0 aflizal ae jlime S ln Al S S diala juaiealy) 55 Uls
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Example Candidate Responses — Paper 2

Example Candidate Response — low

Part 2 Poetry ((§ # ¥) o we>
-7 .,A.ZKJI:’..{K)’( ()

Question 2

2 Al
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Question 3
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Examiner comments

0 The response has not been

awarded any marks. Most of the

points mentioned are not correct

and not relevant.

2 i S Gl AS G B Gl ol s
Soy o B e s Sieal) s
et o> el sl o e il f gl
" o ey 2 LELS

e The verse that has been quoted
in the response is not correct and
does not have any relevance.
=BG sk S s 5l 28 e
RS O @AY Sy S A
= S G S Al
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Example Candidate Responses — Paper 2

How the candidate could have improved their answer

The candidate could have improved their response by studying the poet and his work thoroughly. The response could
have included relevant material with relevant reference from the poet’s work.

o gl S la Alsa ailaie oS S el Gae ol i U Ly i S lsn i) S S aalldas ol ea) S QS S ) 5l el ) sl
1 1S L LS el g ) 5 nilaia

Common mistakes candidates made in this question

The common mistakes that candidates made in this question were that they mixed up the work of one poet with the
other poet. Secondly, they have not supported their responses with correct references from the work of the poet in
their syllabus. Another mistake was their lack of reading and knowledge about the poets.

Ul S om b Dl S elds g KalS S el SOl S gl S it e S Okl ale a5 el (e ) s (el

U b S us ela 8 e S g Ghle )l SIS el Ui S lsa W _w gills msaa S8 S el el e bl ) S
L LA LS malldae oS a5l Lgd oS g e
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Example Candidate Responses — Paper 2

Question 5

Example Candidate Response — high Examiner comments

Part 3 Prose ( })@ o
“E L2 L e ) o

Question 4

Ay

S ecmsllo st/ LS SN S 2" 6Pt BT F

[15] -é@d:‘y J%Igaup’zri?ujé‘_/ Il e 1fir
4

Question 5

541y

SASEANAS b et e U A5 sl 2 s o S s
[15] AP

0 Very good start with great
use of words to give opinion on
the author’s reality and element
of humanity in his work. For
example, words like ‘Zameer kee
khalish, Tableegh kerna’ etc.
S Caian gl o lea) G ST IS ) g
i S Guiladl Gae oS Sl ) Citia
ot Jlaxind S LY ) S 5 205
LS s sl (S paca . s lea L3S
.M\bmls_kw\:ﬁ;a‘»‘b}

e Very good reference from

gl 235 At T n Oﬁww,;wé L] NS b/’yf}wz,érp_d the work and comments on the
: ; .............................................................................. ae walunnnanesTeein cenenar iy ; ........................ ./. Character mentioned in the Work
& Yl & ) 15/, 3 5 Iy b N
...... 3 4/'/"/({,/‘(‘:,)(// 9#“))“/)44/)0%&&&0‘“’)}@/0&60&/ such as the character of Dr Zad|, his

P 2 . P

................. . 2 S ST B el L e S T Gz =7 | wife and the conversation between
both of them which shows reality in
the response.

S8 ) Jlerind S Al s 8wl
YA s S Sl (SOl s )
Cua Gb e S osin O sl e padi

=SS b S s (e il
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Example Candidate Responses — Paper 2

Example Candidate Response — high, continued Examiner comments

e ED-Cr e

O kit el 5

o n B ) e T Ll

o G2R BNy e Wy 4 e ] I HpI e 3 S ol et
g 05 it 2 & Ut 1 (b2 o b k) Vo iy St

G s i N S

L

B2 Bt o i B il pe L ) 2T

) 005 e S (M S P B ot

LA ] 31 R 2 2 e ] AU T “ 0
s g e f L) rin S %

o The response is very well-
developed and detailed. It shows
a clear understanding of the text
and its deeper implications. The
response also makes a developed
exploration of the way the writer
achieves their effects (sustaining
an appropriate voice in an empathic
task).
Dsh oS w7k e Gp Dl S Gl
- M
gl s (S S jama o 8 Sl sl e
= VS il S s
S S ks Sl ) sl
e o s i S e
AN s o S 36 S (sh sk
LSy L1 58 sl camlia )

o Very good ending and use of
words like ‘nadamat talay’, ‘Zameer
kaa bojh’ ‘Ahtraf kerna’ etc.
o Jlenin) € Ll saa ol oliia) Lea)
Gl jiel” “ea 1 1S juada 5 S Caand” S
Jlexind 1€ Bl s oy 5 U S
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Example Candidate Responses — Paper 2

Example Candidate Response — high, continued Examiner comments

0
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v - o Total mark awarded =
-ﬂé}}(‘ju/ﬁu;’ffvlfc‘:.d/;/,!u,flcf 14 out of 15

How the candidate could have improved their answer
The candidate gave a well-developed and detailed response and showed a clear understanding of the text and its

deeper implications. The candidate could have scored another mark to be awarded full marks in this response if some
references from the text had been added, making it a complete answer.
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Example Candidate Responses — Paper 2

Example Candidate Response — middle Examiner comments

Part 3 Prose ( })6 D
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Question 4
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0 Very good start with great use
of words to discuss the question.
The words used are ‘Mutaber
ur Qad Ahwer ‘Suhrah Afaaq’,
‘Zameer kee Awaz etc.
Cﬁ\qﬁls.km\:ﬂé:};qg#d\y
Jlaxin srae . le Lgal Cas gl S Jlaxia
“JJ‘ Ag‘)}‘ ‘)..\:\I.A” 5‘_)'..\:1,\4”.):\&5\ C“-’C’-’f
o 5“5l S naa Sl o

e Good discussion on the
characters used in the work such
as Dr Zadi and his wife. There is a
comparison between rich and poor
class.
O3S i bl (Sl ) sn ) SIS
O S ke cuje Hol el sy e
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Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued Examiner comments
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0 The response has some
description of the play, and the
story has been narrated rather than
giving the candidate’s own opinion.
S O S sl Jrail (S el 3 e 2l
Dl 8l ) (S sl NS o (K
=SS

0 Repetition of the story as
described by the author. This
response is reasonably developed
and to some extent relevant.
LS Oy 5 ian AS L ) 83 S (AUS
A S s )y osh din s o
- Adlria (S5
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Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued Examiner comments
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) | understanding of the text and some
""" e A (e g o L. of its deeper implications.
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’ 11 out of 15

How the candidate could have improved their answer

The candidate could have improved if references from the work of the author had been discussed and quoted in the
response. With references and quotations from the text, the standard of the response would have increased to be
awarded the highest marks. Secondly, the candidate mainly narrated or used the descriptive element rather than

analytical.
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Example Candidate Responses — Paper 2

Example Candidate Response — low

Part 3 Prose ()7, .2
L [ e i) o

Question 4
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Question 5
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Examiner comments

o This response is very basic.
It has very little relevance to the
question. The candidate has merely
narrated the story.
s 8 Gl 2 S a3 o0l (0 i il
PSS o Ul ki 3las oS o gl S
= S0 S GUS Gpa Sl sl
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Example Candidate Responses — Paper 2

Example Candidate Response — low, continued
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Examiner comments

e This response has very little
supporting reference to the text.
S S o e S S s )

op S s s

o The conclusion of the response
is not correct. The main part of the
question is about the character of
‘Halawa’ which is not the focus in
the response.
Al O Ly e oA S Gl g
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SR ET S
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Example Candidate Responses — Paper 2

Example Candidate Response — low, continued Examiner comments
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Total mark awarded =
6 out of 15
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How the candidate could have improved their answer

» If there had been relevance to the question in the response.
* This would have shown a clear understanding of the text and its deeper implications.

12 g3k as0 eld S w0l n i g lasas)y Iots. gl S ) S jou Sl Cal

330008 DD G mes Sa s O a1 s S Bnoe puma I I gloar 1S g ~sil

Common mistakes candidates made in this question

» They did not address the question. For example, Question 4 was on a particular character, but the common
mistake was that the story of the text was narrated.

» The focus of Question 5 was on purposefulness and humanity, but responses were the description of the whole
play with no focus on the question.

* The responses were not supported with correct references from the work of the authors in the syllabus.
» Another mistake was lack of reading and knowledge about the authors and their work.
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